# **Mount Lawley Primary School**





# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Monday 18th December 2023 Using "D7T4" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

### HOME DELIVERY

If you place your order on or before Monday 18 December 2023 it will be dispatched FREE OF CHARGE no later than the week ending 19 January 2024.

Orders placed after 18 December will incur a late fee of up to \$8.00. Please ensure you allow sufficient time for delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	Year Two					
	PLEASE SELECT OPTION A OR INDIVIDUAL ITEMS IN OPTIO	NΒ				
	Option A					
P77230	Mount Lawley Primary School Year Two Pack  COMPLETE YEAR TWO STATIONERY PACK WITH REDUCED PRICING.	1		1	157.00	157.00
	Retail Price: \$184.70 Cost Saving: \$27.70 Resource List Special Price: \$157.00 OR					
	Option B OPTION B - SELECT INDIVIDUAL ITEMS BELOW					
P52702	Glue Kids PVA 250ml UHU	2		1	7.00	7.00
P50130	Glue Stick UHU 40 gm	3		4	3.35	13.40
P55442	Display Book A4 20 Pocket Black Refillable	4	$\overline{\Box}$	1	2.15	2.15
P50575	Display Book A4 40 Pocket Insert Cover Black Non-Refillable	5		2	5.45	10.90
P50950	Display Book A4 40 Pocket Insert Cover Green Non-Refillable	6		1	5.45	5.45
P55492	Document Wallet FC Slimpick Blue	7		1	1.10	1.10
P50281	Document Envelope A4 PP With Press Stud Clear	8		2	1.25	2.50
P50362	Eraser Staedtler Mars Plastic 526-50	9		3	4.40	13.20
P50186	Highlighter Marker - Yellow	10		1	1.60	1.60
P52636	Marker Artline #30 Black 5mm Chisel	11		1	4.25	4.25
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	12		1	4.75	4.75
P55821	Markers Connector Pens Wallet 20 Assorted	13		1	13.50	13.50
P50129	Crayons 12's Twistable (WA Schools Only)	14		1	4.95	4.95
P52110	Oil Pastels 24's Water Soluble Box Micador	15		1	13.50	13.50
P56237	Pencil Red Checking/Ruling	16		4	0.75	3.00
P51313	Pencil (HB) Faber Grip 2001 Triangular - Non-Slip Grip	17	$\Box$	10	1.40	14.00
P56256	Pencils-Coloured 20's Junior Triangular Grip	18	$\overline{}$	1	13.55	13.55
P51185	Pencils-Watercolour 12's Faber	19	$\overline{}$	1	8.75	8.75
P56215	Pencil Case 340x170mm Tartan Jumbo	20		1	3.25	3.25
P56130	Pen Felt Tip Fineliner Black	21		2	2.85	5.70
P50090	Ruler 300mm Wooden	22		1	1.10	1.10
P54030	Scrapbook 335x245mm 64 Page 90gsm Superhero	23		3	2.40	7.20
P56242	Sharpener Pencil Barrel Double Hole (EL)	24		1	2.10	2.10
P55830	Adhesive Tape Masking 18mm x 50m	25		1	4.95	4.95
P56706	Whiteboard Marker Connector - Black	26		3	2.80	8.40
P52143	Whiteboard Marker Connector - Black Whiteboard Marker Connector - Red	27		1	2.80	2.80
P51609	Magnetic Whiteboard 21 x 29cm (double sided with marker)	28		1	10.40	10.40
P51072	Whiteboard Eraser Mini Magnetic	29		1	1.25	1.25
<del>-</del>	1 x Display Book Green is for Italian Document Wallet Slimpick Blue is for Technologies	20	J	1	1.20	1.20

### **ADDITIONAL ITEMS REQUIRED**

THE ITEMS BELOW ARE NOT IN THE STATIONERY PACK. PLEASE SELECT AS REQUIRED.

0710 YR 02 Page 2

# Please tick the items required in the box provided $\downarrow$

MATHS	Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
Please select ONLY ONE of below Maths Workbooks - as advised by your child's teacher.	P02757	Jolly Grammar Pupil Book 2: In Print letters	30		1	27.75	27.75
P33678		MATHS		Choose One			
New Edition for 2024		Please select <b>ONLY ONE</b> of below Maths Workbooks - as advised by your o	hild's te	acher.			
P33679   Oxford Maths Student and Assessment Book Yr2 Value Pack 3E [Various]   32	P33678	New Edition for 2024	31		1	28.95	28.95
P33680   Oxford Maths Student and Assessment Book Yr3 Value Pack 3E [Various]   33	P33679	Oxford Maths Student and Assessment Book Yr2 Value Pack 3E [Various] New Edition for 2024	32		1	28.95	28.95
P51334   Scissors 170mm Noris Club Hobby	P33680	Oxford Maths Student and Assessment Book Yr3 Value Pack 3E [Various]	33		1	28.95	28.95
(may be retained from previous year)		Choose LEFT or RIGHT handed scissors		Choose One			
P50288   Scissors 158mm Kaicut/Osmer Left Handed   35	P51334	Scissors 170mm Noris Club Hobby	34		1	2.95	2.95
P02010   My Desktop Dictionary [RIC Publication]   36		(may be retained from previous year)		_			
(may be retained from previous year)	P50288		35		1	4.95	4.95
P50572	P02010	My Desktop Dictionary [RIC Publication]	36		1	7.95	7.95
(may be retained from previous year) (For READING)           P55439         Display Book A3 20 Pocket Black Insert Cover (Non-Ref)         38         1         9.55           (may be retained from previous year) (For ART)         (For ART)         1         11.05           P51464         Headphones Stereo Deluxe Lightweight with Volume Control (Or headset of choice - may be retained from previous year)         39         1         11.05           F60361         Mount Lawley PS 2024 Student Diary (Pre-Order)         40         1         10.00           (Please provide payment to Campion and school will distribute)         0PTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order (Please provide payment to Campion and school will distribute)         41         1         37.00           F52090         SCHOOL CONTRIBUTIONS         School Voluntary Contribution Per Child         42         1         60.00           P & C CONTRIBUTIONS         Choose One         Choose One           F52091         P & C Voluntary Contribution 1 Child         43         1         100.00           -OR-         -OR-         -         1         150.00	DE0570						
Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	P505/2	·	37	Ц	1	8.25	8.25
P51464 Headphones Stereo Deluxe Lightweight with Volume Control (Or headset of choice - may be retained from previous year)  F60361 Mount Lawley PS 2024 Student Diary (Pre-Order) (Please provide payment to Campion and school will distribute)  F60357 OPTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order (Please provide payment to Campion and school will distribute)  SCHOOL CONTRIBUTIONS  F52090 School Voluntary Contribution Per Child 42 1 60.00  P & C CONTRIBUTIONS  Please select ONE of the options below  Choose One  F52091 P & C Voluntary Contribution 1 Child 43 1 100.00  -OR- F52092 P & C Voluntary Contribution 2 Children 44 1 1 150.00	P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	38		1	9.55	9.55
Cor headset of choice - may be retained from previous year)   F60361   Mount Lawley PS 2024 Student Diary (Pre-Order)   40							
F60361 Mount Lawley PS 2024 Student Diary (Pre-Order) (Please provide payment to Campion and school will distribute)  F60357 OPTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order (Please provide payment to Campion and school will distribute)  SCHOOL CONTRIBUTIONS  F52090 School Voluntary Contribution Per Child 42 1 60.00  P & C CONTRIBUTIONS  Please select ONE of the options below  Choose One  F52091 P & C Voluntary Contribution 1 Child 43 1 100.00  -OR- F52092 P & C Voluntary Contribution 2 Children 44 1 1 150.00	P51464		39		1	11.05	11.05
(Please provide payment to Campion and school will distribute)  F60357 OPTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order (Please provide payment to Campion and school will distribute)  SCHOOL CONTRIBUTIONS  F52090 School Voluntary Contribution Per Child 42 1 60.00  P & C CONTRIBUTIONS  Please select ONE of the options below Choose One  F52091 P & C Voluntary Contribution 1 Child 43 1 100.00  -OR-  F52092 P & C Voluntary Contribution 2 Children 44 1 1 150.00	F60361		40		1	10 00	10.00
F60357 OPTIONAL: Mount Lawley PS 2024 Yearbook (Banksia) Pre-order (Please provide payment to Campion and school will distribute)  SCHOOL CONTRIBUTIONS F52090 School Voluntary Contribution Per Child 42 1 60.00  P & C CONTRIBUTIONS  Please select ONE of the options below  F52091 P & C Voluntary Contribution 1 Child 43 1 100.00  -OR- F52092 P & C Voluntary Contribution 2 Children 44 1 1 150.00			-10	_	•	10.00	10.00
SCHOOL CONTRIBUTIONS   School Voluntary Contribution Per Child   42	F60357		41		1	37.00	37.00
F52090         School Voluntary Contribution Per Child         42         1         60.00           P & C CONTRIBUTIONS           Please select ONE of the options below         Choose One           F52091         P & C Voluntary Contribution 1 Child         43         1         100.00           -OR-         -OR-         1         150.00		(Please provide payment to Campion and school will distribute)		_			
F52090         School Voluntary Contribution Per Child         42         1         60.00           P & C CONTRIBUTIONS           Please select ONE of the options below         Choose One           F52091         P & C Voluntary Contribution 1 Child         43         1         100.00           -OR-         -OR-         1         150.00		SCHOOL CONTRIBUTIONS					
Please select ONE of the options below         Choose One           F52091         P & C Voluntary Contribution 1 Child         43         1         100.00           -OR-           F52092         P & C Voluntary Contribution 2 Children         44         1         1         150.00	F52090		42		1	60.00	60.00
F52091       P & C Voluntary Contribution 1 Child       43       1       100.00         -OR-         F52092       P & C Voluntary Contribution 2 Children       44       1       1 150.00		P & C CONTRIBUTIONS					
-OR- F52092 P & C Voluntary Contribution 2 Children 44 ☐ 1 150.00		Please select ONE of the options below		Choose One			
F52092 P & C Voluntary Contribution 2 Children 44  1 150.00	F52091	•	43		1	100.00	100.00
VIX.	F52092	P & C Voluntary Contribution 2 Children	44		1	150.00	150.00
F52093 P & C Voluntary Contribution 3 or More Children 45 1 200.00	F52093		45		1	200.00	200.00

## **PARENTS TO SUPPLY**

1x Library Bag (Can be purchased from School Uniform Shop at a cost of \$8.00, or retain from previous year) 1x Vinyl Apron / Art Smock

# Please tick the items required in the box provided

(PRICES CORRECT AT 08/11/23)

 $\sqrt{\phantom{a}}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$0.00 **ESTIMATED AMOUNT DUE** \$

Office Use

Description